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Topic:- Physics

1) If a body is thrown up with the velocity of 15 m/s then maximum height

attained by the body is (g =10 m/sz):@ﬁwmﬂﬁ 15 m/sﬂﬂﬂﬁfﬁwﬁﬁw
BT SITdT at 1P & gRT fhast sifteman SHars wra & Jatt:

1.11.25m
2.16.2m
3.245m

4.7.62m

Correct Answer :-

« 1125m

2) Simple harmonic motion is based on:/IXd 3Mad T MUTR 8:
1. Law of conservation of momentum/‘v'ia"'[ TREUT & 0 TR

2. Law of conservation of mechanical energy/qTW ol TREUT & FaH W
3. Law of conservation of mass/ScdHT IEU & 99 IR

4. None of these/3TH ¥ &5 ot

Correct Answer :-

« Law of conservation of mechanical energy/3if3® STl TR&U & fAoH R

3) To find maximum horizontal range, the angle of projection will be equal to:/

Sftrman &fast WY U & 1T, Y&qur o1 1 {149 SRTeR g:
1. 30°
2. 60°

3. 45°



4. 90°
Correct Answer :-

« 45°

4) The energy equivalent of one atomic mass unit is: /Td UHIY W%ﬂo‘l‘{'%
UG SHoll BT HIH 8:

1.1.6 x 10193

2.6.02 x 1023 ]
3. 931 MeV

4.9.31 MeV

Correct Answer :-

« 931 MeV

5) ki

In coulomb’s law, the constant of proportional  *™ %0 has unit:/@dH &
1

WﬁWsz%EﬁﬁWﬁﬁ:

1. N

2. N -m?
3. Nm?2/c2
4, Nc2/m2

Correct Answer :-

6) 1n Young'’s double slit experiment using light of wavelength is A=60004 559

distance between the screen and the source is 1 m. If the Frindge width on the

screenis =006 cm the distance between the two coherent source is:/Ti'lTa?ﬁr-

e T F woprst Rt aded A = 6000 4 3 9fy v ud i & dfiw ot gt 1 71, 2 v b
3 drers £ = 006 3t & At Y R weila F wew g e

1. 0.01 mm/0.01 o
2.1cm/ 199
3.0.1 mm/0.1 oy



4.1 mm/1ﬁ|‘£ﬁ

Correct Answer :-

« 1 mm/1 ot

7) Electric conductivity of semiconductor:/3GATAD I ﬁgﬂﬁ drdAdhdl:
1. Decreased with temperature increased/dTd EI_(EIef & 1Y ged! %

2. Increase with temprature increased/dld El_d'ﬁ & 1Y aa‘cﬁ %

3. No change with temperatuer increased/dTd aﬁ L°Ed aﬁé U'R’TJIT‘T:[ '_'@3[ Eﬁ?ﬂ %

4. Not depend on temperature/dly U AR ERICZGI %

Correct Answer :-

 Increase with temprature increased/dld EI_Glef & 1y EIET‘F[ %

8) Soap help in clearing clothes because:/w?ﬁ@ ehﬁﬁna'cmw%aﬁ%:

1. Chemical of soap changes/dIg- &1 XTI dg Sl g
2. It increase the surface tension of the solution/9'd & g5 -1d &I §¢T &dl §
3. It absorb the dirt/ﬂ"s’ﬁﬁﬁ?ﬁ'@’a?ﬂ%

4. It decrease the surface tension of the sqution/@ﬁ%WaﬂﬁaﬁWWéﬂT%

Correct Answer :-

. It decrease the surface tension of the solution/9\d & Ut d-1d &1 HH &R adl &

9 Abulbis placed between two plane mirrors inclined at an angle of 60°. The

number of images formed: /T §9 TN &l GHAA GUUN & U IWT § ol TP gax | 60°
BT BV T4 & a1 9o & fpaq ufafas ure g1

1.5
2.6
3.4

4.3

Correct Answer :-



The work function of a metal in 4 eV. For the emission of photo electron of zero velocity from the
metal surface the wavelength of the incident radiation should be: AT Urq b1 PAGAT 4 eV %, yrd

Dt g A L AT & Biet sadei- & Iaoi ag Amufad fafpor ot aergs gift:
L 17004
5. 27004

3, 31004

4, 29004

Correct Answer :-

. 31004

11) Dimensions formula of frequency:/énqﬁliﬁ fovira v @:
1. [MOL- 1703

2. [MOLOT-1]

3. [MOLOT]

4, [MT-2]

Correct Answer :-

12) Which is constant for satellite in orbit: /3UUg I H&T H w1 FRR @1 &:
1. Velocity/aﬂ

2. Angular momentum/ PO AT

3. Potential energy/@-lﬁl\_rrG\_rﬁ

4. Acceleration/ XUl

Correct Answer :-
« Angular momentum/ 10T FaT

13) If half life time of a radioactive atom is 2.3 days the its decay constant
would be: /afe et e Tfthra w=amyy &1 ork g 2.3 a1 8 @t ey Foraie &1 94
ﬁ'ﬂT:

1. 0.1

2.0.2



3.03

4.2.3

Correct Answer :-

« 03

14) The resultant force of 5N and 10 N cannot be:/5 N 3R 10 N &1 ufyorrHt a1 T8Y
E-PIWT%:

1.12N
2.8N
3.4N

4.5N

Correct Answer :-

« 4N

15) A 100 gm water cool down from 100°C to 50°C will release heat:/ 100 gm S
100°C ¥ 50°C 9% BUST §I1 H foha~1l AT UG- H:

1. 4000 calorie/4000 ARt
2. 5000 calorie/5000 HaAR!
3. 6000 calorie/6000 HaANR!
4. 7000 calorie/7000 ARt

Correct Answer :-

« 5000 calorie/5000 HaR

16) If the unit of force and length each be increased by four times then the
unit of energy is increases by:/ﬂﬁ{ﬂﬁ 3R ﬁin'&" P 4T B IR AT del fear wird @9
ot & {9 | Ferat ghfl:

1. 16 times/16 T[T
2. 8 times/8 T[T
3.2 times/2 T

4. 4 times/4 [T

Correct Answer :-



« 16times/16 T[T

17) The value of surface tension of a liquid at critical temperature is: /wifd®
a7 WR R BT 56 119 &

1. Zero/[H

2. Infinite/ 3~

3. Between 0 and infinite /X 3R 3= & e

4. Cannot be determined,/fuff¥d =gt fovar o T 8

Correct Answer :-

18) Two bulbs are of 60W and 100W are connected in series across the supply

then: /3 Ie SN 60W 3R 100W & & TUT S 9wars | Joft A o8 8 a4

1. The current through each of the same/aF! H UaTfed URT A BRIt

2. The potential drop across 100W bulb is more/faHd ¥ fR&H 100W & Fecd ¥ 31fere gift
3. The potential drop each of the same/faya o w4t qHf & I grft

4. The current through 100W in more/ YRT &1 UHTT 100W H 31fe/e ghT

Correct Answer :-

« The current through each of the same/Eﬁ:ﬁﬁ UaTfed YRT JHH gRit

19) Resolving power of a microscope:/ﬁ&-ﬂ'@ﬁaﬂ favre grvan:
1. Is directly proportional to j‘/:" & WHCH??[ gl g

2. Is inversely proportional to R/J‘$qu?ﬁépl?ﬁ%

3. Is not related to %/ * & Teiferd 7t 3
4. Is directly proportional to the diameter of the objective/G'ff‘l\-Ima‘T & I B qu?ﬁ Eﬁ?‘ﬁ %

Correct Answer :-

« Isinversely proportional to 3‘/;‘3333@_14135[@@??[%

20) I3-rays emitted by radioactive maternal are:/ ﬁ-ﬁﬂﬁﬁ’fmmmﬁﬁ
Ifoid gl &

1. Electromagnetic radiation/ﬁ'g?IIH W fafe<or 8



2. Electrons orbiting around the nucleus/=® & IRI 3R Ham o ‘qg-la gl sadg\ll-l g
3. Charge particles emitted by the nucleus/=TfH® ¥ MR aral SfafRid w1 g

4. Neutron particles/?’lEfIJ:rW%

Correct Answer :-

« Charge particles emitted by the nucleus/mﬁﬁaﬂ%{aﬁ&ﬂaﬁrﬂwﬁ

21) Six identical resistors each of 1 ohm (1Q) are connected as shown. The
equivalent resistance between A and B is:/6 JHTT UfeRI4U® ST9H yd® &1 419 1Q
g, = RergaR oits T & ) A 3R B & Aer 9y ufeRiY gl m:

1.1 ohm/1 3|
2.1.5 ohm/1.5 3fIH
3.2.5 ohm/2.5 319

4.3.0 ohm/3.0 3

Correct Answer :-

« 1.5 0hm/1.5 ¥

22) A magnetic needles kept in a non-uniform magnetic field. It experience:/

TP I G B TP AU gaa 1y &1 T 7@ o1aT 8 af A 3rgyd S
1. A force and a torque/U® dd e?lwa&rr'zpf

2. A force but not a forceful/T% §& TRq §d 30! g

3. A torque but not a force/Ud §d 3TYUl UXg Pl ad o

4. Neither a force nor torque/qaﬁ?aﬁsﬂ@f

Correct Answer :-

. A force and a torque/Ud §d 3R §d 3Tguf

23) If the body is moving in a circle of radius 'r’ with a constant speed v, its
angular velocity is:/af¢ T& avg el gafta ant & nfa w2 36 3 e B r 8, o g
@t fd v RR %, O Hofty T ghm:



-]
'1|r-:|

4.

Correct Answer :-

'E_‘J

e« I

24) Moment of inertia depends on:/Ssd errqﬁﬁnh G ?:
1. Distribution of particles/W%ﬁﬁTUTW

2. Mass/odHTT TR

3. Position of axis of rotation/3{& & b I &1 R TR

4. All of the above/mﬁﬁ g

Correct Answer :-

« All of the above/IWRIad GHT

25) A moving charge produces: /T TTHTT 3ITA G~ HdT 8:
1. An electric field only/%dd Udh ﬁl—g{qﬂ AW

2. A magnetic field only/&dd Th Jad1g &7 TR

3. Both electric and magnetic field/lragtld 3R t\i@lwﬁl & al
4. Neither an electric field nor magnetic field/d fagad 4 gad i &=

Correct Answer :-

. Both electric and magnetic field/fdgad 3R ga! &= 1

26) A man goes 10 m towards north then 20 m towards east then displacement
is: /U Al SaX Bt a¥® 10 HeR, 3T 915 20 Hiex qd &t O o1 3 ) oo fouma=
Eﬂ'ﬂT:

1.22.5m
2.25m

3.255m



4.30m

Correct Answer :-
e 225mM

27) The focal length of a convex lens is 50 cm. The power is:/mﬁ'\‘r P BIed
ot 50 AT @ o ST &raT g

1.+50 D

2.-50D

3.+2D

4.-2D

Correct Answer :-

« 12D

28) Which of the following is most suitable for the core of an electromagnet:/

fagad gaatg S T & e waifie suaitt &:
1. Air/d1lg
2. Soft Iron/¥g Id

3. Steel/gdId
4. Cu-Ni alloy/drar-fee figror

Correct Answer :-

« Soft Iron/Hg gId

29) Which is used for rectifier: /fetcaRt %ﬁmmﬁn fopaT SITar 8:
1. Chowk/ie

2. Transformer/gRIHTHR

3. Diode/SHIIS

4. Capacitor/ gt

Correct Answer :-

. Diode/S”IS



When two bodies collide elastically then:/af¢ g f&Tal # YdTRI ¢HId gdT § a1

1. Kinetic energy of the system alone is conserved/d3 ®! »ad Tfas Sl TRI&d I8 &
2. Only momentum in covered/dhad i IRIErd I8 ?
3. Both energy and momentum are conserved/Sull 3R a7 g TRIed I8d §

4. Neither energy nor momentum are conserved/ 3ol 3R 7 FaTT Tferd 8 §

Correct Answer :-

. Both energy and momentum are conserved/S&dl 3R JaT a1 TRFerd I8d &

Topic:- Chemistry

1) Two separate bulbs contain ideal gases A and B. The density of gas A is
twice that of gas B. The molecular mass of A is half that of gas B. The two
gases are at the same temperature. The ratio of the pressure of A to that of
gas B is:/ & JY® Tcal | TGl 9 A T B Ut 1 A 19 FT ¥-7cd B & °-Icd &1 GIAT
A 1 3TT0a® SaHT B & 31i0a® SoadT= & 14T g1 gl 1 T9T9 a9 W 81 A & 19 3l
3UTd B ¥ g

1.2

2.1/2

3.4

4.1/4

Correct Answer :-

. 4

2) Identify the product in the following reaction:/ =% sifufsrar & wrw saurg

S

}Q COOH W Product



>—<} CH,OH

Correct Answer :-

4.

3) Chemical adsorption:/ At sift=nyor:
1. Decreases with increase of temperature/ @ §&- & J1Y Uedl §
2. Increases with increase of temperature/ did de4 & 1Y §edl &

3. First increases and then decreases with increase of temperature/ did e & 91y Ugd
gadT & Ud e uear @

4. First decreases and then increases with increase of temperature/ did e & 91y Ugd
gedl § Ud R dear g

Correct Answer :-

« First increases and then decreases with increase of temperature/ 99 ¢+ & I1Y Ugd
§edl § Ud O ear g

4) In which of the following sets, the hybridization of all the compounds is

same:/ 9 A @ fra g & 9t 9! 1 JHor U g
1. XeF,, 13, 1CI5

2.50,, SO3, PCl5

3. HCIO3, H,S0,, XeF,

4. HNO3, HCIO3, PCl5

Correct Answer :-

. XeFy, 13, ICI;

5) Half-lives of first order and zero order reaction are same. Ratio of their

rates are (a= initial concentration):/ WJH ®if¢ Td X Hife ot srfufepar & e ared
3T T 81 39F 7 BT AU (a = WRIRIF AT=dT) TH:

0.693
1. a

2.0.693 a



0693 x 2
3. a

2a
4, 0.693

Correct Answer :-

0693 x 2

6) At isoelectric point:/ FUgATR -4 o5 W:
1. No net movement of colloidal particles/aﬂ?ﬂ's’?ﬁ HU B BIs Td Tl gral

2. Colloidal sol becomes highly stable/ HIcTse! HUT I R 81 o g

3. Peptisation can be carried out/ GREIHRUT I &1 bl §

4. None of these/éqff I ﬁ'sc T&ﬁ

Correct Answer :-

« No net movement of colloidal particles/®dss! HUN P HIg A dal Bl

7) A particle ‘A’ moving with a certain velocity has a de-Brogile wavelength
of 1 A. If particle ‘B’ has mass 25% of A and velocity 75% of ‘A’, the de-
Brogile wavelength of ‘B’ will be approximately:/ T& fAf3ra oo | afa=ia s A
@1 1 divelt awreed 1 A §1 afe &1 B’ &1 ST "A’ & SHATT $T 25% TI T A’ & AT
FT 75% g, df ST ‘B’ S-ell airesa gt

1.1A
2.5.3R
3.803 A
4.8000 A

Correct Answer :-
« 5.3

8) The correct name for the complex [Cr(NH3)g] [Co(C504)3] is:/
[Cr(NH3)6] [CO(C204)31FT e T4 &:

1. Hexaamminechromium (III) trioxalatocobalt (III)/%H%IT@THW’H (I1I1) gﬁﬂmﬁﬁ
PIaree (I11)

2. Hexaamminechromium (II) trioxalatocobalate (II)/ %ERZITQ'J:‘TW&NTI (II) 'c{[‘a’Sﬁaﬁﬁﬁ
Fiaree (II)



3. Hexaamminechromium(III) trioxalatocobaltate (III)/ TaRITEHSITH (II1)
TTE3eIde] dialec (111)

4. Hexaamminechromate (III) trioxalatocobalt (III)/ 8RITUHA HIHC (I1II) TrE3ieide!
PIaTee (1I1)

Correct Answer :-

« Hexaamminechromium(III) trioxalatocobaltate (III)/ ST ITHaH (I11)
TrR3Iqcel dialee (I11)

9) In the catalytic oxidation of ammonia; an oxide is formed which is used in

the preparation of HNO3. This oxide is:/ 3HI~/AT & IAP SATRIHIU A TH
TFATSS Ul BT @ St HNO5 & fomifor & wget g 21 siferss gim:

1. NO

2. N,O3

3.N504

4. N,Og

Correct Answer :-

« NO

10) Hydroboration - oxidation of 1-Methyl cyclo pentene gives major product

as:/ 1-UTd Argael U< & IESIAIRIBIUN STRIBIUN & YT BT TG gI:

ory
H

, H
H H
CH,
, OH
/ 1y \-CH;
OH
, H
/ 5 \CHs
H
4 OH

Correct Answer :-



11) The electronic configuration of four elements are:/ IR Tl &1 sAGLITT
fomams o @:

L: 1s2 2s2 2p%;

Q: 1s2 2s2 2pb 3s2 3p5;
P: 1s2 252 2p% 3s1;

R: 1s2 2s2 2p% 3s2;

The formulae of ionic compounds that could be formed between them are:/

399 wey 99 i Hife! &1 g g
1. L,P, RL, PQ, R,Q

2. LP, RL, PQ, RQ
3. P,L, RL, PQ, RQ,

4. LP, RyL, P50, RQ

Correct Answer :-

e P>L, RL, PQ, RQ>

12) Arrange the hydrides of group 15 in the correct order of reducing

nature:/ 15 d Y & B & YA I YPid BT Gl HH HM:

 NH3 < PH3 < AsH3 < SbH3 < BiHs
, NH3 > PH3 > AsH3 > SbH3 > BiHj
5 PH3 < AsH3 < SbH3 < BIH3 > NHj3
4 PH3z > AsHg > SbH3 > BiHz > NHg3
Correct Answer :-

. NH3 < PH3 < AsH3 < SbH3 < BiHj

13) Which of the following gives iodoform, when treated with NH40H and I,?/

g & ¥ S NH40H Td 1, T FFar H R masiw i 3

1. CH3COCH3



0
, CH,=C-OC.H,

3. Both of the above/@ﬁﬁﬂiﬁ_wﬁ
4. None of these/gﬂﬁﬁaﬂgﬂﬁ

Correct Answer :-

« CH3COCH;

14) In the compounds of the type POX3, (where X is halogen) P atoms show
multiple bonding of the type:/ POX5 3 YR & WD § (W8T X gale §) P
URHTY[ g yeR ot 9g I=Udl <2t 8:

ZId’IT—d’IT
3.1:rrr—d*rr

4. None of these/ 378 I &5 =gl

Correct Answer :-

15) A 1% aqueous solution (mass by volume) of a certain substance is
isotonic with a 3% solution of dextrose i.e., glucose (molar mass 180) at a
given temperature. The molar mass of the substance is:/ & &€ 917 R &

1f3a uard & 1% wIeitg faIaaa (M= s|TT) SR Ui 7o (3ifvas soaur
180) ¥ 3% faeras ¥ s g1 uerd &1 snfvas geaura ghm:

1. 60

2.120
3.180
4. 360

Correct Answer :-



3. NaBr

4. Nal

Correct Answer :-

« NaF

17) pick up the correct order of reactivity of the following compounds in ¥

reactions.:/ 5v* fufpar ¥ forg D) & frariear &1 98 w9 anm:

T

OO
ooz TeN
o e Te el

Correct Answer :-

18) Density of vapours of phosphene gas at 27°C and 3 bar pressure is
(Molecular mass of PH; = 34):/ 27°C 91U T4 3 R &[¥ WR Bi¥PIH 19 $T a9 g-cd
fora=11 8 (PH; 1 3nfUae goawT = 34)

1. 2.1 g/litre
2.17 g/litre
3. 34 g/litre

4. 4.1 g/litre

Correct Answer :-

e 4.1 g/litre



One mole of a prefect gas expands isothermally to ten times of its original

volume. The change in entropy is:/ U® Ald IRA{d® 19 A IWHY ¥4 F 304
YRFRI® 7T & & A1 TTRE gl §1 309 Terdht & ufkad= g

1.0.1R
2.2.303R
3.10.0R
4.100.0 R

Correct Answer :-

« 2.303R

20) An ester used as medicine is:/ T TR Sl a1 @ Yifd wgad ga1 8:
1. Ethyl acetate/ e tfice

2. Methy! acetate/ Afdd THlce

3. Methyl salicylate/ T JeitRice

4. Ethyl benzoate/ Ud Sue

Correct Answer :-

« Methyl salicylate/ Afdd TeiRicic

21) (+) and (-) Lactic acid can be separated by using:/ (+) Td (-) dfde® 3t
o ITNT gRT YU fHar o q@dr @

1. Fractional crystallization/ faHTTT foheciiamror

2. Treatment with another optically active acid/ 3 U1 Alchd 37 o 1Y fohdT g

3. Treatment with an optically active base/ ORI Aiehd &R & A1y fohar g

4. Distillation under reduced pressure/ ®H qld UR I gRI

Correct Answer :-

« Treatment with an optically active base/ UHIRI% Afhd &R & 1Y fohdT gRI

22) The type of hybridization involved in recently discovered allotrope of

carbon (e.g., Cgo or fullerene) is:/ HTa &I VAICIT (e.g., Cgo T BARIA) B @i
¥ e ¥ @ o9 a1 Jowor I fpar
1.sp

2. sp?



3.sp3

4.d25p3

Correct Answer :-

. sz

23) Stability order of the following is:/ 19 & ®rfta &1 9 4 &:
| 11 I11

1.I<III <II
2II < III <1
I <I<II

4. 11 < I < III

Correct Answer :-

e I<III<II

24) Which of the following compounds is not correctly named?/ ffg & @ aifire

BT TE ATHBIT T8 22
CH,-CH-CH,
Nl
1. O
(1, 2-Epoxyprnpane)/ (1, 2-TaIagIo)
2. NH, CH, CHy CHy NH,
(Propane-1, 3-diamine)/ (Iﬁﬂ:l-l, 3-‘6’I§Q";ﬂ:f)

NHCH,;

[3, 4-bis (N-methylamino) biphenyl]/ [3, 4-bis (N-Afa THiHT) Srsftea)

4,

(N-Phenyldimethylamine)/(N-Thasrsafde wiA)

Correct Answer :-



(N-Phenyldimethylamine)/(N-ThasgAidd THH)

25) An organic compound (A) C,H5-05N on reduction gives (B). On reacting
(B) with HNO,, N> gas is evolved along with (C) which on oxidation gives
acetic acid. (B) is:/ U® ®Iai-1® WIS C,H5—0,N U §IRT (B) a1 81 (B) B
f5PaT HNO, & TTY FAH R TR N, T (C) F 1Y I Bl 8 RrIPT SATRTrH0T
¥efifew s a1 | At (B) di:

1. C2H5N02
2. C2H5NH2
3. CH3NH2

4. CH3-NH-CH5

Correct Answer :-

26) In which of the following molecules/ions, the central atom does not
involve a d-orbital in the hybridisation process:/ /& ¥ & f&3 arvj/sma= o
TP YohH H b= WHTY R TP d-Ha® IURRIG -6l gidl:

1.1

2. SFq

3. [Cu(NH3)41%*
4. MnO

Correct Answer :-

« MnO

27) Which of the following has more percentage of void?/ g & & foad fifaa
ot yRRraar sifers grft?

1. Simple cubic/ T g1

2. Face centred cubic/Hdd oi-<d T

3. Body centred cubic/ P Hi<d oG

4. % of voids are equal for fcc and bee/ fec T bee &1 Radt fa=idar A= grft



Correct Answer :-

« Simple cubic/ I THIT

28) Carbogen is:/ ®TEIS 8:

1. Pure form of carbon:/@Ta &1 & ¥

2. COCl,
3. Mixture of CO and CO,/ CO Td CO, & fiyu

4. Mixture of O, and CO5 /05 Td CO, HT fHHur

Correct Answer :-

. Mixture of O, and CO5 /O, Td CO, BT AUl

29) 3.92 g/I of a sample of ferrous ammonium sulphate (mol wt. = 392)

— KMnO
reacts completely with 50 ml. 1¢ * solution. The percentage purity of the

sample is: /B3 SAFET T S TR F3.929/1, 0 O* fieaT ¥ 50 ml. Ty
guia: Sifirgpd §1d 81 T @ ufa= s §:

1. 50
2.78.4
3.80.0

4, 39.2

Correct Answer :-

30) Soft drinks and baby feeding bottles are generally made up of:/#l"%’%iﬁ
Td 9l gicd IrHTIdT fpad g-d] 8:

1. Polyester/ OldiRex

2. Polystyrene/ GidiexTgA

3. Polyurethane/ qﬁqﬂa:f

4. None of these/ $T8 ¥ ®Is ol

Correct Answer :-

« Polystyrene/ SIIGIRGRIED



Topic:- Botany

1) Which of the following is responsible for fixation of nitrogen in the soil?/

fFrrefafaa o @ 14 gar | Tigeom & REwor & g Saverdt 82
1.Virus/flq”E|TUl
2. Fungi/ d%

3. Bacterial/ StaTq]
4. Protozoa/ ISR

Correct Answer :-

« Bacterial/ SdT]

2) In cactus, the spines are the modified:/ ARTEA | gl feaer FurRur %:
1. Stem/ Il

2. Root / SIS

3. Leaves/Uii

4. Buds/ pTierdl

Correct Answer :-

e Leaves/Ur

3) A plant cell differs from an animal cell in the absence of?/WWﬁﬁTﬂ,
g PIRPT A fraat srqufkufa & T et g 82

1. Mitochondria/ wrs*aﬁ%m
2. Centrioles/ @‘Eéﬁﬁ

3. Ribosomes/ JsaGH
4, Endoplasmic Reticulum/ 3 d: dd SITfeieT

Correct Answer :-

« Centrioles/ Tfeafd

4) The organization which has been published the ‘Red Data Book’ is?/ fFg #
q oI ) TRT & ) ¥S STel Rad” b1 fawa a1 &

1. National Environmental Engineering Research Institute/ ﬂ@ﬂmﬁ@ﬁﬁmﬁﬁ
ST Y AR



2. International union for conversion of Nature and Natural Resources/ WG?IT
UTpTde FETEH] & FUIRUl & foT SIeRTPTy g

3. International Union for Conservation of Nature / E'EQQIEEI:IE ?Iﬁ?ﬂ R H-dgT 3HTh TR

4. National Wild life Action Plan/ JTSId SiTel Sita ST Aol

Correct Answer :-

« International Union for Conservation of Nature / E'E@QI:IEI qﬁmuv‘”r\f HIGT 3HTh TR
5) Pneumatophores found in?/ AATTHR @uaﬁna%) Ui} STt %
1. Tinospora/ feARaRT #

2. Pinus/ UTS19 #
3. Mangrooves/ HYd Ug &

4. None of above/ SRiad & A op\|5°=|3°f

Correct Answer :-

. Mangrooves/ Hi@ U3 #

6) During photosynthesis, O, is developed from?/ UPT-HRAYYT & THY SMTRito fAperd! %?
1. Hy0,/ Hy0, ¥

2. H,0/H,0 ¥

3.CO,/ CO, ¥

4. HCO4/ HCO; ¥

Correct Answer :-

« H,0/H,0 ¥

7) The cause of decreasing number of wildlife is?/ Wﬁﬂﬂﬁmﬂiﬁeﬁﬂ
PRV T 82

1. Cannibalism/ Ryeft
2. Destruction of habitats/ &WWW@W
3. Cutting of trees/ USI &I del

4. Scarcity of drinking water/ U Org o/d &1 ST

Correct Answer :-



« Destruction of habitats/ G{I?:I'IFW:FE@?T

8) The concept of genetic drift was introduced by?/ Rfe® Tue (3MgaifRie T819)
o1 R fam faam an

1. Hardy Weinberg/ HSECH
2. Sewall Wright/ Ridrage
3. G. G. Simpson/ Sit Sif Riug=

4. Julian Huxley/ S[[¢/- gRTd

Correct Answer :-

« Sewall Wright/ Ryard3rse

9) Which the following are bio-fertilizers?/ fFrrafafea # ¥ $i9 a sRe %
1. Azospirillum/@mm'qﬂ

2. Rhizobium /ITgSfaaA
3. Azotobacter/@aaw

Select the correct answer using the codes given below:/ frafafea @3[ P JgTadT A Tt IR

1.1 and 2 only/%dd 1 3R 2
2.2 and 3 only / $d@ 23R 3
3.1and 3 only / ®ad 1 3R 3
4.1,2and 3/1, 23R 3

Correct Answer :-

« 1,2and 3/1, 23R 3

10) 1 nm is equal to:/ 1 A HieX fFIP SRR giaT 8:
1.10 9 m/ 109t

2.10°3 mm/ 10-3 fadt

3.10°° m/10°¢ Hi

4,100 um/100 HTZehI HI

Correct Answer :-

« 109m/ 1094t



11) ‘Genetic Blueprint’ sometimes appears in the news is related to:/

TR Rrfee sifiie’ & s+t JaraR) § tear 8, Sefa @:

1. Mapping of living organisms genes/ oild WO o S & ARG o

2. Prenatal diagnosis to look at the chromosomes/ BN B ird & fere vrera E@c IEEERS
3. A nucleus that carries the genetic information/ e—naa% {j\d"IIGh & YaTed U 10D o

4. Fundamental tool of clinical microbiology/ FIt-eh el qJ&H EICACRICCAC | YIRHd "4 9

Correct Answer :-

» Mapping of living organisms genes/ Tofta UTforl o S & AFRE® 0 o

12) In which of the following Geocarpic fruit is?/ =& & ®1=a1 wa fsigriie
(ST & 3ieR o aren) 8

1. Potato/ 31T¢]
2. Peanut/ fIETCb_cﬂ

3. Onion/ WS

4. Garlic/ 3a¥h

Correct Answer :-

« Peanut/ fIJgTqv_cﬂ

13) Who proposed the cell theory?/ 79 # I frua SR Rigr< &1 ufaures fear
Ur?

1. Schleiden and Schwann/ @ 3R WH
2. Watson and Crick/ aed 3R ®id

3. Mendal and Morgan/ Hed 3R A

4, Robert Hooke/ ?TEIT:CW

Correct Answer :-

. Schleiden and Schwann/ e 3R @M

14) Who coined the term ‘Gene'?/ foaa <S> wreg &1 ufarure foear Ut
1. Huxley/ RERK

2. Wilhelm Johnnsen/ fadiged ST

3. Darwin / STfd4



4. Lamarck/ NEIED

Correct Answer :-

« Wilhelm Johnnsen/ iam%cd-l S

15) The type of forest mainly found in India is?/ Wﬁﬂ'@ﬁ: P TPR & a9
WTd 8

1. Sub tropical deciduous/ I I feaeig guiordt
2. Tidal forest/ SARY a4

3. Tropical deciduous / SWIGfesdta gofurdh

4. Temperature deciduous / Jurs gofureh

Correct Answer :-

. Tropical deciduous / IWGTcseg guigrdt

16) Spinach leaves are rich source of / UTET® Y URIAT fhTehT 33T Wld &2
1. Vitamin A/ Betfa T

2. Iron/dIg

3. Carotene/ FEH

4. Vitamin E/ faerfa= £

Correct Answer :-

. Iron/@%’

17) Which of the following is the main factor of water pollution?/ faad o
I UGWOT T YT BIRT 62

1. Smoke/ Y3fi

2. Industrial waste/ IR 3Ry
3. Ammonia/ mfar

4. Detergents/ fgedie

Correct Answer :-

« Industrial waste/ 3Nl Uiy

18) Nucleus is absent in?/ Pad Glﬂq@ﬁ Eﬂ_\'ﬂ %



1. Xylem parenchyma/ TU¢TH q?i'cblil-ll 2|

2. Phloem parenchyma/ A Wb o
3. Sieve tube cells/ BT AfcTepT H
4. Companion cells/ HgdX PHITRAHT H

Correct Answer :-

« Sieve tube cells/ T@T ATCIRT |

19) Which of the following is a modified stem:/ f9 & & S Fuiaiyd a9 &1
JeTEI0T &

1. Sugarcane / THT@

2. Potato /3iTq]

3. Onion / Wy

4. All of the above / IWRlad T 4 gt

Correct Answer :-

« Sugarcane / TI$IT(§"@1‘)

20) Capacity and strength of cell wall is due to?/ ®if@T fufxT 1 ervar g wfea
frg &R A gt &

1. Suberin/ ﬁ@ﬂ‘r{

2. Cellulose/ @Fﬂjﬁﬂ
3. Lignine/ INIPG]

4. Pectin/ UfdeA

Correct Answer :-

« Lignine/ NIPE

21) Transportation of food in plant in a form of?mﬁ 'l-ﬁTrF-TWUTﬁWﬁ?IT%
1. Starch/™

2. Fructose/ Thaerg

3. Glucose/ ‘@ﬂ
4. Lactose/ A

Correct Answer :-



. Starch/%™

22) Due to water pollution algae grew and fish died because?/ WW%
PRI AGTA UeT gid] & TaiP TSferdl $t Uy gl oATdt 8 R fb:

1. They did not get light/ 3 U1 &l [Hrd

2. They didn’t get enough nutrients/ I T U a<d Tal fHad
3. The oxygen level decreased/ 3iTeRilod TR H HH! &1 oTdl &

4. None of these/ SWRIad H I ®Ig gl

Correct Answer :-

« The oxygen level decreased/ it TR & HH g1 STt §
23) In Cj;cycle, the CO, acceptor is?/ C; Gk COZ‘/TIﬁ %?

1. PEP

2. RuBP

3. OAA

4. Malic acid/ Bfdies 3t

Correct Answer :-

e RuBP

24) Who discovered the electron microscope?/ﬁ?ﬁ@mﬁﬁﬁ?'ﬁmaﬁ
e &t g

1. Knoll and Ruska/ T 3R BT
2. Robert Hooke/ &¢ §&
3. Corens/ ®R

4. Genson and Genson/ ST 3R ST

Correct Answer :-

« Knoll and Ruska/ﬂVWGﬁTW

25) The product obtained from cow-dung by anaerobic process is?/ T4 & &R
¥, rargdiy ufsear g1 fFafafEd # @ foraer Iare fear ot gwdar 82

1. Methane/ Hia=
2. Butane/ @ﬁ_*[



3. Ethane/ @?
4. Propane/ IR

Correct Answer :-

« Methane/ 129

26) The value of resources depends on?/ TIT & g AR FHar 32
1. The quantity of resources/ TITYT Bt AT

2. Quality of resources/ JHTYT BT T[0T

3. The type and requirements of society/ THIS &1 SR Td ITP] HIIH AT

4. All of these/ ITdd it
Correct Answer :-

« All of these/ Suad Tt

27) Anthrax disease is caused by?/ Eﬂﬂ&qm@?ﬁ%"

1. Virus/ faumo] gRT
2. Bacteria/ SIIdTY] gRT

3. Mycoplasma/ HIZ® @ToH gRI

4. Fungi/ ®d& gRT

Correct Answer :-

« Bacteria/ SIaTy] gRI

28) An important source of aerosol in upper atmosphere is?/ m?ﬂgﬁsﬁﬁ

WIS Ug T arel T Bi- A7 §:

1. Sea/ 9%

2. Warm Air/ T gaT

3. Jet aeroplane emission/ Sicar N & e gared

4. Soil/ Hal
Correct Answer :-

« Jet aeroplane emission/ Sicam! ¥ fAaar gerd



Which of the amino acid is optically active?/ frad Q Fa-ar 3T vfirs v
gfera §:

1. Glycine/ AR

2. Veline/ daiA

3. Isosoleusine/&]’s@?{@ﬂ
4. Leusine/ @@?

Correct Answer :-

. Glycine/ TT3RH

30) Clove is a part of?/ @ UTGU &1 S HT YT 8T &
1. Floral bud/ g% &l

2. Thalamus of a flower/ Y9 &1 Aoty

3. Auxiliary bud/3{Ux 4T

4. Seed/ CiS|

Correct Answer :-

« Floral bud/ g% &ait

Topic:- Zoology

1) In chronic alcoholic addiction occurs?/ Tl Tehigd DI 3T & T BT 82
1. Cirrhosis/ RIRIRM

2. Fatty syndrome/ ao_cprﬁ@'q

3. Hypertension/ 3 d-ld Rl

4. All of the above/ IWRIad H 4 T

Correct Answer :-

« All of the above/ SWRiad & ¥ gt
2) AIDS is caused by?/ TSH I fHrad ST gaT 82
1. Corynebacterium diphtheria/ ®ifHsacian Sefifvar

2. Human immunodeficiency virus/ g9 Rg-IShRIT-=T fawrg
3. Rubella virus/ &dcdr /a9



4. Varicella virus/ aRe fasmg

Correct Answer :-

« Human immunodeficiency virus/ Ea8- SEgAISIthT-aT [T

3) Restriction Enzymes are responsible for/ Wﬁﬁw (TSITSH) fPoaeiie &
g Saverdt §

1. Respiration/ 44

2. Protein Synthesis/l;ﬁﬂ'rrﬁ'sz@lw

3. Fat metabolism/ a1 SUTUTIT

4. Genetic Engineering/ 3aifRieh fHifAdt

Correct Answer :-

. Genetic Engineering/ 3difRie fHiE®T

4) How many chambers are there in human heart:/ 1949 g¢d ¥ fvdq Iy urg
wTd &

1.2
2.4
3.3
4. 8

Correct Answer :-

5) First heart transplant in the world done by: / ﬁgﬁq-q‘qumwﬁr\qﬁ
fomar ur:

1. Luis pusher/ Fﬁﬂqﬁ?
2. Christiaan Barnard/ fhfeam sAfs

3. Venugopal rao /éruyﬂtrmm
4. Dr crick/ SI. fohep

Correct Answer :-

« Christiaan Barnard,/ fhfeam s=is

6)



What is the relationship of insulin illness?/ ﬂﬁlﬁﬂﬂﬁﬁﬁﬁmmm%?
1. Diabetes/ AYHg

2. Goiter / dd

3. Migraine / H‘I’s{fﬂ

4. Arthritis/ TTaa1

Correct Answer :-

. Diabetes/ OYAg

7) Opium is obtained from?/ 3fUaH f»d gy & urw fHar Sirar 82
1. Cannabis sativa/ &-TaY HeTgdl

2. Pappaver sommiferum/ JUaR HIFHTRRA

3. Clavicefn purpuri/ a%ﬁ%ﬁmﬁvqﬁf

4. Erythroxyllon cocoa/ R ERNIEEIEAR

Correct Answer :-

« Pappaver sommiferum,/ GUaR TIfE-THRA

8) AIDS is caused by which of the following reason/ ﬁyﬁﬁmwﬁm
a"TEﬁT‘IT %:

1. Lack of T-4 lymphocyte/ At-4 f[fwiTEe o1 Sl
2. High blood pressure / 3™ Yad qld
3. Lack of riboflavin / JgEIvATa &1 HHl

4. Bacterial infection / SIATY] Hh YUl

Correct Answer :-

« Lack of T-4 lymphocyte/ A4 f[fwiTEe o1 Sl
9) Blood is a/an:/ W%W

1. Connective tissue / GRS 3

2. Epithelial tissue/ wfuefiferaa 3%

3. Both of the above / RURCSEARI

4. None of the above / SIRIad ¥ ¥ &I T8l

Correct Answer :-



« Connective tissue / RIBIS RRGED

10) What is essential for the synthesis of ATP in mitochondria?/ ATscI®itear #
ATP & ITAVU & U 9w 82

1. NADP

2. FMN

3. Oxygen/ SRS

4. Pyruvic acid/ U&(dd 3

Correct Answer :-

« Oxygen/ 3fiwiloH

11) Geneticaly modified man made crop is?/WWﬁiﬁﬂFﬂ\’:ﬂTjﬂTﬁﬁ?W
q 1S TS B d P 32

1. Triticum/ <ifced

2. Triticale/ f@%

3. Pisum/ UIgdH

4. Sugarcane/ 4l (EIE)

Correct Answer :-

. Triticale/ Sifcard

12) The study of butter fly is called: / fadferen & 3= &) T HgT SIT4T &
1. Ecuethology / W@Sﬁﬁﬁﬁ

2. Lapideteriology / NIEERPRININ]

3. Ecphayology / Tahardrsit
4. Sicrotology / RRENIS]

Correct Answer :-

« Lapideteriology / N EEECINIE

13) Which hormone increases, cells division, protein synthesis & growth of
bones?/ {4 & ®IF-11 g1 ST fauTeE, WA Jxawor, aur JfRm) @ gfx &
qeTar 82

1. GH (STH)



2. PTH
3. ADH
4. ACTH

Correct Answer :-

« GH (STH)

14) The product of glycolysis used in alcoholic fermentation is?/ Tepigieny
fopua ® TSP AR &1 HF-1T IdTE SUANT 81 STdT 872

1. NADH,
2. ATP

3. ATP and NADPH,/ ATP Td NADPH-,

4, COZ

Correct Answer :-

. NADH,

15) Which hormone secreted only in the dark?/ e & @ B9 91 g1 dad Id
H g wfad grar 82

1. Insulin/ éﬁﬁﬂ

2. Andrenalin/ Qﬁl:ﬁ%ﬂ
3. Thyroxin/ %ﬂgﬁw
4. Melatonin/ TaciA4

Correct Answer :-

« Melatonin/ AdeA

16) Which of the following acid is responsible for muscle pain: / wiaofm # ad

& fore 19 91 3t IRl &
1. Formic acid /uﬂ%&m

2. Acetic acid / QF‘ e 3
3. Lactic acid / dfdcd 3

4. Maleic acid / Afer® 3

Correct Answer :-



. Lactic acid / dfde® 3nd

17) Deficiency of vitamin E can causes:/ ﬁﬁ&lﬁéﬂﬁﬁﬁmﬁmﬁ:
1. Scurvy/ W df

2. Beri - Beri/ SRRy

3. Pellagra/ PP

4. Impotency/ TgdHdl

Correct Answer :-

« Impotency/ TgdDdT

18) Life span of RBCs is:/ ATd $fR HUNGIAY T sita- &1 fopd=T gidT &:
1. 120 days / 120 f&A

2. 90 days / 90 f&=1

3.4 days / 4f¢q

4. 4 months / 4 g

Correct Answer :-

« 120 days / 120 feq

19) Indian regions in which biodiversity found in large scale?/ YR BT B I

&= & Rred Sa fafderan waffe 32

1. Ganga region/ TiT &5

2. West Himalayan/ gfge fgared &=
3. Western ghat place/ gfgt gre &=

4. Central India/ 989 HRd

Correct Answer :-

« Western ghat place/ Gf%! gre &=

20) Almost 96% of human body made up of by/ HTHd IR BT TWIHIT 96% HTT ford
TAI AT EAI g

1.C,H,O,N,S

2.H,Na, O, N, S



3.Na, Ca, N, S, C
4.N, S, Hg, Br, Ca

Correct Answer :-

21) Which of the following disease is known as royal disease?/ fadd«s=aa
A B Iae AR o B AT @

1. Anaemia / 3fcUdddl

2. Cholera /%TrlT

3. Tuberculosis / &3 AT

4. Haemophilia /Bﬂﬁﬁv‘m

Correct Answer :-

« Haemophilia /Bﬁ'ﬂﬁﬁ?ﬁﬂm

22) The population growth of a country depends upon?/ f&dl 321 #t SHI@T
gfs ik ol 82

1. Natality and mortality/ S/H-aQR d JG-ixX WX
2. Mortality and migration rate/ Jg-aX d Ud{7 qX WX

3. Natality and migration rate/ SH-q¥ d UdIq ¥ R
4. All of the above/ IWiad & ¥ Fuft

Correct Answer :-

« All of the above/ SWRIad H ¥ Tt

23) Glucagon and insulin are?/ TSI GYT YA FTH T f

1. Same work secretion/ 9HI BT P AU

2. Both are secreted from a cell and their functions are also same/ &Fl JHH HIRABT I

W@fyd Ea1 & aur 9HE S gl §

3. Isolated from the cells and having anti-secretory function/ Gl &1 ®IRHT ¥ T
ST & T 3T 3T BT Bhd §

4. None of the above/ SWRiad & eb\l'-:::@'

Correct Answer :-



« Isolated from the cells and having anti-secretory function/ Sl P BB § T
Tl & T 31eRT 3T BTd §1d &

24) House fly spreads?/ T AR I IT IV Har 2
1. Dengue fever/ ?ﬂlﬁ?

2. Yellow fever/ Tid &R

3. Meningitis/ ﬁﬁ\‘rﬂ'&ﬁﬂ

4. Typhoid/ ELIES]

Correct Answer :-

« Typhoid/ T3HIES
25) Wildlife includes?/ 90 Sita< & 1 1 AfRferd forar &irdr 22

1. All biotic factors animal with man, domestic animals and crops/ HJH, ‘aiqaﬂazrr
B & Y G AP RS

2. All vertebrates of conservative forests/ TRf&d STall & T HRISH!
3. All animals of conservative forests/ TXf&d SiTall & Ft S
4. All vegetation and animals of conservative forests/ Txfard SiTal & T4t Sitg 9 a=fd

Correct Answer :-

« All biotic factors animal with man, domestic animals and crops/ A9, Eﬁ?:[\‘r!ﬁ?ﬂﬂ
Hadl & 9y g oifdd RS

26) Yellow fever is:/ §d &R § To:

1. Viral disease/ fauTy SIfd SHARY

2. Bacterial disease/ GﬂaTqGrﬁHaﬂﬂTﬂ

3. By protozoan/ PIMEIRIRSIECEEIEIR

4. None of the above / IWIad & ¥ I3 o

Correct Answer :-

« Viral disease/ fauT] Sifd SRt

27) Specific colour of the human feces is due to the presence of:/ AFI AA &

WW%WW%
1. Urobilin/ QRIfafed



2. Sterocobilin/ ThifafeH

3. Indole/ SUSIA
4. Skatole/ ¥held

Correct Answer :-

« Sterocobilin/ THITSfeH

28) Fasciola hepatica is:/ BI3Nar gufesr 8:
1. Bisexual, self-fertilization/ fgfciiia, Wa:usi—d

2. Bisexual, cross-fertilization/ fgfeitfa, I3 uaifaa
3. Both of the above/ IWRIad GHI

4. Unisexual or dioecious/ SHTIGH a1 THTHTA

Correct Answer :-

« Unisexual or dioecious/ SHAfHT I THIHTT

29) In the crocodile the main identity character is a presence of?/ HIRH™ &I

Haifire ugar S arer S AT YT AT 82
1. Powerful buccal cavity/ ASIgd 9 I[g1

2. Shelled egg/ &b gad 378

3. Thiecodont dentision/ fﬁaﬂ@ﬁffﬁa

4. Four chambered heart/ IR ®& & dIcll gad

Correct Answer :-

« Four chambered heart/ IR ®& & dldl gad

30) The product of hybridization is called?/ U &I UfehdT HT ITG FT HaATdl

8?

1. Clone/ &<

2. Homozygous/ SHINTSTY

3. Hybrid/ % &&xur yerfa)
4. Heterozygous/ RS SRR

Correct Answer :-

« Hybrid/ fafsa (&3 genfa)



Topic:- English

1) Out of the four sentences given below, choose the one which is
grammatically correct.

1. He started working for the company in 1995, and have been their since ever.
2. He started working for the company in 1995, and have been their ever since
3. He have started working for the company in 1995, and has been there since ever.

4. He started working for the company in 1995, and has been there ever since.

Correct Answer :-

« He started working for the company in 1995, and has been there ever since.

2) Out of the given options, choose the most appropriate one to fill in the
blank.

So quietly speak that I could scarcely hear her.
1. did she

2. have she

3. do she

4. doesn’t she

Correct Answer :-

« did she

3) Out of the given four words only one is spelt correctly. Find the word that
is correctly spelt.

1. maintenance
2. medeival
3. noticable

4. occurance

Correct Answer :-

« maintenance

4) Out of the given options, choose the most appropriate one to fill in the
blank.



The number of admissions to the college this year.
1. were increased

2. are increasing

3. have increasing

4. has increased

Correct Answer :-

« has increased

5) DIRECTIONS: A sentence is given followed by four options. Read the
sentence and tick the option that states its kind.

Your house is always so neat and clean, how do you manage it with three
children?

1. Affirmative sentence
2. Interrogative sentence
3. Exclamatory sentence

4. None of the above

Correct Answer :-

« Interrogative sentence

6) Out of the given options, choose the one which is the correct Indirect
Speech of the sentence given below.

“"Do you suppose you know better than your own father?” jeered his angry
mother.

1. His angry mother jeers and asks whether he suppose that he knew better than his
own father.

2. His angry mother jeered and asks whether he supposed that he know better than
his own father.

3. His angry mother jeered and asks whether he supposed that he knew better then
his own father.

4. His angry mother jeered and asked whether he supposed that he knew better than
his own father.

Correct Answer :-

« His angry mother jeered and asked whether he supposed that he knew better than
his own father.



7) What is the meaning of the prefix ‘-extra-’ in the word ‘extracurricular’ ?
1. Not or without

2. Beneath or below

3. Against or opposing

4. Beyond, more than

Correct Answer :-

« Beyond, more than

8) Out of the given options, choose the most appropriate one to fill in the
blank.

You accepted the offer.

1. could have

2. could
3. cannot

4. can

Correct Answer :-

« could have

9) Out of the given options, choose the most appropriate one to fill in the
blank.

I need to paint windows.
1. this

2. that

3.an

4. those

Correct Answer :-

« those

10) Out of the given options, choose the most appropriate one to fill in the
blank.

The blue whale of all the animals.

1. is the largest



2.is a larger
3.is a largest

4. is larger

Correct Answer :-

« is the largest

11) Out of the four sentences given below, choose the one which is
grammatically correct.

1. No sooner did we hear the noise then we rushed to the spot.
2. No sooner did we hear the noise when we rushed to the spot.
3. No sooner had we hear the noise then we rush to the spot.

4. No sooner did we hear the noise than we rushed to the spot.

Correct Answer :-

« No sooner did we hear the noise than we rushed to the spot.

12) In the given sentence there might be an error. Find out which part of the
sentence has an error: If there is no error, mark your answer as (d) i.e. ‘No
error’.

If I had knew (a)/ you were coming, (b)/ I would have baked a cake.(c)/ No
error (d)

1. (a)
2. (b)
3.(c)
4. (d)

Correct Answer :-

13) DIRECTIONS: An affirmative sentence is given and below it four Negative
sentences are given. Out of the given four options, choose the one which is
the grammatically correct transformation of it.

She threw a tantrum when she was told that she wouldn’t be able to go.
1. She have not thrown a tantrum when she was told that she wouldn’t be able to go

2. She do not throw a tantrum when she was told that she wouldn’t be able to go



3. She does not throws a tantrum when she were told that she wouldn’t be able to go

4. She did not throw a tantrum when she was told that she wouldn’t be able to go.

Correct Answer :-

« She did not throw a tantrum when she was told that she wouldn’t be able to go.

14) Out of the given options, choose the one which is the correct Passive
voice of the sentence given below.

Some boys were helping the wounded man.

1. The wounded man has been helped by some boys.
2. The wounded man had been helped by some boys.
3. The wounded man have been helped by some boys.

4. The wounded man was being helped by some boys.

Correct Answer :-

« The wounded man was being helped by some boys.

15) Out of the given options, choose the most appropriate one to fill in the
blank.

The potofeggs_  kept on the stove
1.is

2. were

3. have been

4, are

Correct Answer :-

16) Out of the given options, choose the most appropriate one to fill in the
blank.

She wants to be doctor when she grows up.
1. the
2.an

3.a

4. No article required



Correct Answer :-

17) Out of the given options, choose the most appropriate one to fill in the
blank.

The income the ownership of land is commonly called rent.
1. derived off

2. derived for

3. derived in

4. derived from

Correct Answer :-
e derived from

18) Out of the four sentences given below, choose the one which is
grammatically correct.

1. Most people these days understand the serious effects of smoking.
2. Most people these days understands the serious affect of smoking.
3. Most people these days have understand the serious affects of smoking.

4. Most people these days has understood the serious affects of smoking.

Correct Answer :-
» Most people these days understand the serious effects of smoking.

19) Out of the given options, choose the one which is the correct Direct
speech of the sentence given below.

He said that he had passed the examination.
1. He said, “I had passed the examination.”

2. He said, "I have been passing the examination.”
3. He said, “I have pass the examination.”

4. He said, "I have passed the examination.”

Correct Answer :-

« He said, "I have passed the examination.”



20) DIRECTIONS: A sentence with an underlined word is given below. Find
the word which is opposite to the highlighted word from the given options.

Queen Victoria mourned Prince Albert's death for 40 years.
1. rejoiced

2. cried

3. lamented

4. wept

Correct Answer :-
» rejoiced

21) DIRECTIONS: A sentence with an underlined word is given below. Find
the Word which is most similar in meaning to the underlined word.

Children need adequate amounts of nutritious foods to grow up strong and
healthy.

1. sufficient
2. selective
3. limited

4. important

Correct Answer :-

« sufficient

22) Out of the given four words only one is not spelt correctly. Find the word
that is not correctly spelt.

1. playright
2. possession
3. pronunciation

4. questionnaire

Correct Answer :-
« playright

23) DIRECTIONS: A sentence with an underlined Phrasal verb is given below.
Out of the four options, choose the one which can be substituted for the
given Phrasal verb.



How did the problem come about in the first place?

1. happen
2. know
3. solve

4. travel

Correct Answer :-

« happen

24) Out of the given options, choose the one which is the correct Active voice
of the sentence given below.

He was laughed at by all his friends.

1. All his friends were laughing at him.

2. All his friends are laughing at him.

3. All his friends are being laughed at by him.

4. All his friends laughed at him.

Correct Answer :-
« All his friends laughed at him.

25) Out of the given four options, tick the option that gives a correct
explanation of the sentence given below.

The choice of subject matter is irrelevant to creative writing.

1. The choice of subject matter is not related to creative writing.

2. The choice of subject matter is closely related to creative writing.

3. The choice of subject matter is closely connected with creative writing.

4. The choice of subject matter is dependent upon creative writing.

Correct Answer :-

« The choice of subject matter is not related to creative writing.

Topic:- Reading Comprehension

1) DIRECTIONS: Read the following passage carefully and answer the
questions given below.



India has the largest number of unemployed persons in the rural area in the
world. Every new government announces some programme or the other in
connection with it. The schemes envisaged by successive governments are
generally good. But they do not create confidence among the youth. The
number of unemployed people increases by 10 per cent every year. It is of
course partly because of additional man force coming to the employment
market as the population increases at the rate of 2.1 per cent. But there is
some flaw in the employment generating schemes too. The schemes are
good but there is something wrong in their implementation.

Which word in the passage means ‘a fault, mistake, or weakness, especially
one that happens while something is being planned or made’?

1. unemployed
2. rural
3. programme

4. flaw

Correct Answer :-

o flaw

2) DIRECTIONS: Read the following passage carefully and answer the
questions given below.

India has the largest number of unemployed persons in the rural area in the
world. Every new government announces some programme or the other in
connection with it. The schemes envisaged by successive governments are
generally good. But they do not create confidence among the youth. The
number of unemployed people increases by 10 per cent every year. It is of
course partly because of additional man force coming to the employment
market as the population increases at the rate of 2.1 per cent. But there is
some flaw in the employment generating schemes too. The schemes are
good but there is something wrong in their implementation.

As per the information contained in the passage, which Statement is true?
1. The number of unemployed people is the largest in rural India.

2. The employment generating schemes are faulty

3. Both of the above

4. None of the above

Correct Answer :-

« Both of the above

3) DIRECTIONS: Read the following passage carefully and answer the
questions given below.



India has the largest number of unemployed persons in the rural area in the
world. Every new government announces some programme or the other in
connection with it. The schemes envisaged by successive governments are
generally good. But they do not create confidence among the youth. The
number of unemployed people increases by 10 per cent every year. It is of
course partly because of additional man force coming to the employment
market as the population increases at the rate of 2.1 per cent. But there is
some flaw in the employment generating schemes too. The schemes are
good but there is something wrong in their implementation.

As per the information contained in the passage, which Statement is not
true?

1. The number of unemployed people is the least in rural India.

2. The schemes envisaged by successive governments create a lot of confidence
among the youth.

3. Both of the above

4. None of the above

Correct Answer :-

« Both of the above

4) DIRECTIONS: Read the following passage carefully and answer the
questions given below.

India has the largest number of unemployed persons in the rural area in the
world. Every nhew government announces some programme or the other in
connection with it. The schemes envisaged by successive governments are
generally good. But they do not create confidence among the youth. The
number of unemployed people increases by 10 per cent every year. It is of
course partly because of additional man force coming to the employment
market as the population increases at the rate of 2.1 per cent. But there is
some flaw in the employment generating schemes too. The schemes are
good but there is something wrong in their implementation.

What does the word ‘envisaged’ mean?

1. Imagined or expected something in the future, especially something good
2. Get rid of

3. To expel

4. None of the above

Correct Answer :-

« Imagined or expected something in the future, especially something good

5)



DIRECTIONS: Read the following passage carefully and answer the questions
given below.

India has the largest number of unemployed persons in the rural area in the
world. Every new government announces some programme or the other in
connection with it. The schemes envisaged by successive governments are
generally good. But they do not create confidence among the youth. The
number of unemployed people increases by 10 per cent every year. It is of
course partly because of additional man force coming to the employment
market as the population increases at the rate of 2.1 per cent. But there is
some flaw in the employment generating schemes too. The schemes are
good but there is something wrong in their implementation.

Out of the given options, which would be an apt title for the given passage?
1. The Government schemes: A successful history
2. The Government schemes: A path breaking record

3. The Government schemes to minimize unemployment and their faulty
implementation

4. None of the above

Correct Answer :-

« The Government schemes to minimize unemployment and their faulty
implementation



